

05/03/2024

			Vendor Ranking		Page 1 of 1
Letting:	04240503	May 03, 2024 10:30 AM	Call Order: 007	Contract:	E4X40-R0
District:	District 4		Counties: BROWARD	Fed Aid No:	N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	45363417201 (*)
Contract Docos					

Contract Desc: BROWARD COUNTY PAVEMENT MARKINGS - LONG LINE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$116,730.00	100.00%
2	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$126,027.50	107.96%
3	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$130,659.10	111.93%
4	ROAD RUNNER STRIPING TECHNOLOGIES INC.	Responsive	Non-Winning Bid	\$149,897.00	128.41%
5	AMERICAN DESIGN ENGINEERING CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$164,214.00	140.68%
6	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$205,800.00	176.30%
7	WATERBLASTING, LLC	Responsive	Non-Winning Bid	\$371,759.00	318.48%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	05/28/24	BEGIN TIME:	10:30 AM
	END DATE:	05/31/24	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$200,000.00 and not the contractor's bid total.

~	5
FDOT	23

05/03/2024

	Tabulation of Bids								
Letting:	04240503	May 03, 2024	Call Order:	007	Contract:	E4X40-R0			
District:	District 4		Counties:	BROWARD	Fed Aid No	: N/A			
Contract Time:	365 CALEND	AR DAYS			Project(s):	45363417201 (*)			

Contract Descr: BROWARD COUNTY PAVEMENT MARKINGS - LONG LINE

The work under this Contract consists of removal of existing thermoplastic pavement markings and installation of standard thermoplastic pavement markings along the State Highway System.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$200,000.00 and not the contractors bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

	uantity Units	(1) ACME BAR	RICADES LC	(2) TRP CONS GROUF			CONTRACTING,
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PAVI	EMENT S		MACHINE) (LM				
0005 0711 11141 THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 GAP EXTENSION, 6"	1.000 GM	4,000.00000	4,000.00	4,100.00000	4,100.00	2,293.00000	2,293.00
0010 0711 11241 THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED GUIDE LINE /6-10 DOTTED EXTENSION LINE, 6"	1.000 GM	4,000.00000	4,000.00	4,100.00000	4,100.00	2,149.00000	2,149.00
0015 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	4.000 GM	5,200.00000	20,800.00	5,500.00000	22,000.00	6,115.00000	24,460.00
0020 0711 16102 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 8"	1.000 GM	6,200.00000	6,200.00	7,250.00000	7,250.00	8,153.00000	8,153.00
0025 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP	3.500 GM	2,500.00000	8,750.00	2,200.00000	7,700.00	1,528.00000	5,348.00

FDO	51
	y

05/03/2024

Tabulation of Bids

Page 2 of 7

Lettin	g: 04	4240503	Мау	03, 2024	Ca	ll Order: 007		Contract:	E4X40-R0	
	No / Item ID	Alterna	ate	Quantity Units	(1) ACME BAF	RICADES LC	(2) TRP CON GROUE		· · /	CONTRACTING, LC
() in	dicates item is bi	d as Lump Sur	n		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PA	VEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 16201 IOPLASTIC, S CES, YELLOV		THER	3.500 GM	5,200.00000	18,200.00	5,500.00000	19,250.00	5,730.00000	20,055.00
THERM	0711 17 1 IOPLASTIC, R IOPLASTIC PA NGS- SURFAC	VEMENT	STING	27,390.000 SF	2.00000	54,780.00	2.25000	61,627.50	2.49000	68,201.10
00	01 PAVEMEN (LARGE MAG		Section	on Totals:	I	\$116,730.00		\$126,027.50		\$130,659.10



05/03/2024

Tabulation of Bids

Page 3 of 7

Letting:	04240	503 Ma	y 03, 2024	Ca	Order: 007		Contract:	E4X40-R0	
Line No / It Item Descr		Alternate	Quantity Units	(4) ROAD RUN TECHNOLO		(5) AMERICA ENGINE	ERING		LESBY CTION, INC.
() indicates i	tem is bid as L	ump Sum		Unit Price	Ext Amount	CONSTRUC Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 000	1 (P/	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0711 THERMOPLAS 2-4 DOTTED C EXTENSION,	GUIDELINE/ (1.000 , GM	5,800.00000	5,800.00	6,500.00000	6,500.00	2,500.00000	2,500.00
0010 0711 THERMOPLAS YELLOW, 2-4 DOTTED EXT	DOTTED GU	IDE LINE /6-1	1.000 GM I0	5,800.00000	5,800.00	6,500.00000	6,500.00	2,500.00000	2,500.00
0015 0711 THERMOPLAS SURFACES, V			4.000 GM	6,200.00000	24,800.00	6,500.00000	26,000.00	6,200.00000	24,800.00
0020 0711 THERMOPLAS SURFACES, V			1.000 GM	8,500.00000	8,500.00	8,500.00000	8,500.00	10,000.00000	10,000.00
0025 0711 THERMOPLAS SURFACES, V OR 3-9 LANE	HITE, SKIP			5,800.00000	20,300.00	6,500.00000	22,750.00	2,100.00000	7,350.00
0030 0711 THERMOPLAS SURFACES, Y			3.500 GM	6,200.00000	21,700.00	6,500.00000	22,750.00	6,200.00000	21,700.00
0035 0711 THERMOPLAS THERMOPLAS MARKINGS-S	STIC, REMO' STIC PAVEM	VE EXISTING ENT	27,390.000 SF	2.30000	62,997.00	2.60000	71,214.00	5.00000	136,950.00
0001 PA\		RIPING Secti	on Totals:	1	\$149,897.00		\$164,214.00		\$205,800.00

FDOT			Florida Department of Transportation					05/03/2024	
				Tabulation of Bi	ds	Page 4 of 7			
Letting: 042	40503	May 03, 2024	C	all Order: 007		Contract:	E4X40-R0		
•		te Quantity Units	(4) ROAD RUNNER STRIPING TECHNOLOGIES INC.		(5) AMERICAN DESIGN ENGINEERING		(6) OGLESBY CONSTRUCTION, INC.		
() indicates item is bid a	as Lump Sum		Unit Price	Ext Amount	CONSTRU Unit Price	CTION INC. Ext Amount	Unit Price	Ext Amount	
(Contract G	Grand Totals:		\$149,897.00		\$164,214.00		205,800.00	



05/03/2024

Tabulation of Bids

Page 5 of 7

Letting:	04240503	May 03, 2024	Ca	Order: 007		Contract:	E4X40-R0	
Line No / I Item Desci		ite Quantity Units	(7) WATERBL	ASTING, LLC				
() indicates	item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
THERMOPLAS	11141 STIC, STANDARD, W GUIDELINE/ 6-10 GA 6"		2,222.00000	2,222.00				
THERMOPLAS YELLOW, 2-4	11241 STIC, STANDARD, DOTTED GUIDE LIN ENSION LINE, 6"	1.000 GM E /6-10	2,222.00000	2,222.00				
THERMOPLAS	16101 STIC, STANDARD-O ⁻ VHITE, SOLID, 6"	4.000 THER GM	6,700.00000	26,800.00				
THERMOPLAS	16102 STIC, STANDARD-O` VHITE, SOLID, 8"	1.000 THER GM	7,200.00000	7,200.00				
THERMOPLAS	16131 STIC, STANDARD-O VHITE, SKIP, 6",10-3 DROP		2,450.00000	8,575.00				
THERMOPLAS	16201 STIC, STANDARD-O` ′ELLOW, SOLID, 6"	3.500 THER GM	6,700.00000	23,450.00				
THERMOPLAS	17 1 STIC, REMOVE EXIS STIC PAVEMENT SURFACE TO REMAI		11.00000	301,290.00				
	/EMENT STRIPING GE MACHINE) (LM)	Section Totals:	1	\$371,759.00		I		

FDOT			Florida Department of Transportation				05/03/2024		
		Page 6 of 7							
Letting:	04240503	May 03, 2024	С	all Order: 007		Contract:	E4X40-R0		
Line No / Item ID Alterna Item Description () indicates item is bid as Lump Sum		nate Quantity Units	(7) WATERBLASTING, LLC						
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract	Grand Totals:		\$371,759.00					

FDOT		Florida Department of Transportation						
			Tabulatio	n of Bids			Page 7 of 7	
Letting:	04240503	May 03, 2024	Call Order:	007	Contract:	E4X40-R0		
		NOTE: Failur	re to file a protest wi	thin the time pres	scribed in section			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.